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>> ary=[12 3]
123
>>ary=[123;456;789]
Ary=
1 2 3
4 5 6
7 8 9
>>error-ary=[1 2 3;45 6;7 8 9]
Error dimension must be agree
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>>A=[1 2 3;4 5 6];
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>>row=[1 2 3];
>>col =[1.4 ;2.5 ; 3.6];
>> row
1 2 3
>>col
1.4
2.5
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>> A=[1;2 ;3]
A=

N
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>>b(1,1)=1; b(1,2)=-2 ; b(2,1)=-3 ;b(2,2)=4;

>>b
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>>A=[1 2 3;4 5 6;7 8 9]
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N b e
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>>y=A(2,:)
Y=

4 5 8
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>A=[1 2 3;4 5 6; 7 8 9]
A=
1 2 3
4 5 6
7 8 9
>>y=A(:)
y:
1
2
3
4
5
6
7
8
9
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>>a=[12 3 4]
>> y=diag(a)
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0O 2 0 O
O 0 3 0
0O 0 0 4]
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>a=[1 2 3 4;5 6 7 8 ;10 11 12 13;14 15 16 17]
a=

14 15 16

>y=diag(a)
Y=

1

6

12

17

>>t=diag(a,-1)
t=

5
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>> R=diag(a,2)
R=

3

8
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>>a=[964,230;,67 8]
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>>b=a(:,[132])
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>>C=a([1 3 2],:)
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>>A=[6 8 7;2 0 3;9 6 4]
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>>A(:, 1) =[11; 15; 16]

A=

11 8 7
15 0 3
16 4 6
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A=

O 0 1
15 0 3
16 4 6
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>>A=[6 8 7;203;9 4 6]
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>>A(3,:)=[a31, 332, a33] ... QI il ad Jlasind
>>A(:,3 )=[a13; ax3; a3z ] ... Gl 3 garl) ad Jlasin)
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>A=[1 2 3 4,56 7 89 01 10;11 12 13 14]
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>>B=A([ 2,3], [1, 2])
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>> B=A ([2:3],[1:2])
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